460 HE - REAM-EF - BRI BR PRI EARTREE LK
H;ﬁEl 2022498 25H

B 1 [ e BRI RIS
PRSI R B

BFiRE—

H H 147 2(i 3fi1 441 5{i1 641 141 8{s
, EMMERF  |#EA FE®0) 12732|7E R BEH(1) 12766 |BEAR BRam(1) 13717\ BAQ) 13729|2K (1) 13748|FHZE £2(q) 13760| & E(1) 13761|E@A HMFQ) 13783
9/25 100m
+1.3 il 1B rif] B 3} B el
BE #HXA1) 25717|BEF BEZEX) 27730/ FR FERE(T) 28”03|&t0 K1) 28”6787 #EEE(1) 29”63| A ”‘“'r-’ﬁ(I) 29”76
9/25 200m K&
+0.2 ¥ B SEH e d=) =) i3]
YR YNG)) 5057 34| A FFEX) 5'08”90(fE Z&(1) 511738|EHZE [5E5(1) 515771|EHE &FEF() 531776| R+ BAX(0) 5'48722| % BAK() 622736
9/25 1500m
txrE __ B[ 1B K FaE [£3]
wE EHEW 16”42|gkME =) 17711| 4B FEEQD) 18”74 |{&£ ARMEIL(T) 20756
9/25 100mH
+0.9 i 2l BEE F=
, ER2ZERF  |PTHE HF®RQ) 12726|FHZE FAA(2) 12”532 H :‘:(2) 12766 Il 1R(2) 12"87|&A& EXQ) 13”03|KE O A KER(2) 13"04|1E% RE(Q) 13"15|[RA F1H(2) 13744
9/25 100m
+1.4 ic) i = pE ] | ;! il izl
, LUESIEST0)) 26"17|2H FHEQ2) 26"24|FFHEK(2) 27778| &K Eix(©2 27794|feH =) 27795
9/25 200m
+0.2 B ] ™ D TiaE
Jh EEQ) 4'58700| T EA(2) 5'04794[/NR EHE(2) 506”36
9/25 1500m
23] iz} =)
HH 22 9'42"12|F & 5%(2) 10'26792|h 4T Mef&(2) 1156702
9/25 3000m
_ 7R B B
m EKXQ) 18795(H# £ #10M2) 207821 & &N (2) 20788|IMT 1BE(2) 25750
9/25 110mH
+0.0 trE i) E
ERELERF [ FHAQ 56"79|FEF IEZE(2) 58724
9/25 400m
B T2
fEE WM& 2'36702| =18 Z=:K(1) 2'36”05
9/25 800m
T3 TxE
i3 48762|/g 49”28|H B 49”86t < 51707[E 51749|R2EE 51751|[E = 52”00| %@ 52749
TN 15(2) FHABZKQ) =ZiFE BH2) A= K1) RO B KER2) & FE(2) {EATEMESL(T) KA ERA)
9/25 4x100mR| #7 FE() WT BEQ) BAE BEX1) EF HZE(2) R B AE E=01) HFHL #0(2) $§¥?:§§EK(1)
&% REQ2) B FIAQ) &h E7) E _ E(2) 2R OB EX 2K B H51) I EEE>1)
TrE {RIR(2) AES I X5 0) B KB 7 EAQ2) AA {#X(2) = ) E MBAQ2) &M‘a‘(z)
o/ Elrﬁ]ﬁE%Too BX gl 12757 [f3%F Z&E0(1) 12770\t K1) 12771[%2@ ZE(1) 12796 ILispfitH & (1) 13764|28 AlR() 1473478 ZEF(1) 147888 K[E 2 (1) 15725
5 m
+2.1 F9)I| [t 1l P51l EE =5 B & B B &
JAH BEMQ) 26784|KE #ELN(1) 27744
9/25 200m REFH KEH
+0.7 HR ]l
XE 532717|&HE Z=F(1) 544796
9/25 1500m
=8 B[
BrR2EREF [BE BAQ 11799 Z=(2) 12710[H:8 EE Q@) 12714[El BEEQ) 12758[A EXR(©2) 13707|FR &k 13734 EXK &BREQ) 13"62[HT BC(2) 14751
9/25 100m REH KEH R
+0.6 = _ EE _ = _ il HEA EE EE Fal
&% ®BEQ 24783 EK(2) 25781(F9)Il BEFE(2) 26710
9/25 200m REH X REFH
+0.2 FaIl il ol
ER %42 4'44700|AZFE EFR(2) 522717
9/25 1500m
F9J11 H[E
E B=(2) 1024786[IL T ZEE(2) 1036758[%# KZE(2) 1050719
9/25 3000m
[ 11| FaJI HE
AR FhEE(2) 18756 & HRE(2) 19719
9/25 110mH
+0.0 HR ]l

1/5




460 HE - REAM-EF - BRI BR PRI EARTREE LK
BAR: 2022498 25H

BFREB—E

i £ 22 35 JiE o] o e P e BR RIS
HH FEAE] 147 201 3fi1 44 | 5{i1 641 141 8{s
BRE&EEF (LT EXQ@ 59”57/ EFiE 2 M (2)  1°02745|HE HEAMN(2) 102”70
9/25 400m
= HE eI
Fa)Il 48"14|HM 48”518 5 53794
B BEE(2) AR hEE(2) T BX(Q2)
9/25 4x100mR| A& Bl%E() K Q2) Ll E()
WE #A(Q) B BAQ) WE ZER(Q2)
| 2B BT A EEF) FR 2KQ)
HEHFIEBRF [HL BXOD) 531787
9/25 1500m —_
HEAM2EBF |4 EEQ 13747
9/25 100m
+0.9 Bt E B
R Ri2) 5057645t E(2) 505786
9/25 1500m
Bt SIEHE FREHEE
RESHBEEF|HE BiE() 102763
9/25 400m - ARH
EBLEBHRE S5 2ABEBEEE 56700
NnN4& FFE©2) B HmEQ2)
9/25 4x100mR| FHHE H#E0) A EEM
JEN () BA E(1)
H#E BEAW) fii5  #(2)
BEFIERF |BE XKHEQ1) 12°92|AE BEAQ) 13”08|&FMA E%() 16712
9/25 100m
-0.1 H2& hrEPE HZ
& BEW 33738
9/25 200m
+0.7 =TE
Hig BEAM) 503793[fA FHEE() 539”769
9/25 1500m AL
B2z & HZ&
BB HZ0) 1130744
9/25 3000m
=T
BEF2ERF |EFE BZEQ) 12"00(#8%8 1@ A(2) 12751
9/25 100m K&
+0.9 BT Bzg
Ik 2X0Q 501712
9/25 1500m
=T
FiHE EHh(2 1115726
9/25 3000m
EEE'
BREFEEEF(RE FH0) 111747
9/25 400m N
A 1%(2) 223785
9/25 800m N
R 50726|A 2 & 53727
Ik BXRQ Bl B A1)
9/25 4x100mR| £ IBZE(2) B2 EAQ2
R EEh(2) WA FiE01)
A 1%2) 58 1)
ERARBF |BEFESEM 1m50|&iEE HA(2) 1m40
9/25 =Y
HEH) a1

2/5




460 HE - REAM-EF - BRI BR PRI EARTREE LK
BAR: 2022498 25H

5 P % 455 BIE [iE] i 7A  e_b 5 35
 #H ] 2

BFREB—E

HH 1 2(i 3fi1 441 5{i1 641 141 8{s
ERFEREF A KEQ 5m38|{E#E Ht(2) 5m28| Rk ZHI2) 5m16|#%%E =E(2) 5m00| LR H#5(2) 4m80| A HEEERX) Am77|KA& FEKRA) am25|F & E1) 3m74
9/25 ENE Bk +2.9 +0.9 +0.4 +2.0 +1.2 +1.0 +0.5 -0.6
B B ;) _ i 1B __Hifg JIE [ d=!
& FEQ2) 8m45|FRAR Q) Tm71 | E1E(Q2) Tm25(HZE {ZF() 6m72|2H 18E(2) 6m50(&  I&HE(1) Am82| Bk FA(1) 4m09
9/25| FaH.i%(5.0kg)
_E% A= B2 = R __ B B=E
ArRLEEF |&E#8 KkFQ) 5m66|JES FEE(2) 5m07|ARZE REA2) 4m92|FRZE 3H4E(1) 4m76|Hh % FHKR(2) 4m68| = R EE—ER(1) 4m15
9/25 ENE Bk +0.5 +0.9 +0.8 +0.2 +1.3 +0.0
__H[@E A=#h P HE EB HE FeJI
22X |2 Tm56| EH #£E(2) 6m51
9/25| FaH.%(5.0kg)
Hm H[E
REAFLEBEETF|EAR E1) 6m81
9/25| faHI%(5.0kg)
23 =
BEFXBRF|ZExT KEQ) 3m60
9/25 E i Bk +0.7

Ay EhE

3/5




460 HE - REAM-EF - BRI BR PRI EARTREE LK
H;ﬁEl 2022498 25H

T RBEE—

5 & 35 Sk [ T A PR B b R 5
JEI H FEAE] 147 201 3fi1 441 5{i1 641 141 8{s
, EF1ELXF |SHEEF) 14"28|FE 1L KRTEX) 14”53 A FLEE() 14782|IEMA #F2(1) 15701|BHZE #£401) 15”31/ @A HEW) 15778|#¥IEA F1=(1) 15" 90[{ERETE () 16709
9/25 100m
—0.6 i 1B BE i3] 53] FafE i) FafE
FFE ZHO 30780|F;E  iDM(1) 31719 1B %7 :D§(1) 31760|lEBEF F1H=(1) 33716|8H =i0(1) 33774
9/25 200m
+1.0 T t48 ] B toE
Bk fmfe) 242”55/ BE() 2'43768| K+ FHEQ) 244”91 LR BEA) 2'54”55|FRZE B2FI(1) 256"69( LA #E) 314"43|BREENEN)  317742/ERE BRIEQ) 320714
9/25 800m
i3] trE B ___7apE 3] i3]
, EM2ELF |[BFA EQ 13763[/NR #5155 (2) 14786[;F 8 Z%H(2) 15758 A% FRi(2) 15764 |tk FiM2) 16701 |FIL 3XHEQ2) 16738|[ElEm MEE(2) 18731
9/25 100m
+0.5 FafE L izl o A &1 A & A il
, EX BEQ 30793|HIHZ <2 F(2) 33"49| KT #HZEQ2) 347°77|HIR BHEQ2) 41722
9/25 200m
+0.5 B [ D FAE & A
B F(2) 2'38726|hF FBE(2) 243713|&H LEQ) 247742| Tk tF#Q) 2'48766|MN%k IE/H(2) 2'56736| &%k £E(2) 2'57783[HT EF(2) 2'58"57| K% HBHZEQ) 304745
9/25 800m
T = il A=) =] izl ic] 55 izl FaRE
s E 3102 177265k & #A1K(2) 24755
9/25 100mH
+0.2 B=E il
, EMEREZF |RLEABEQ 51821|BERREFZ(2) 554 13|EE &) 5587 48| & E&(1) 619718
9/25 1500m
T3 tTrE i3] T42E
Fif i 577457 58734(F 58764 |5 58793| T < =B 59778| M EE 101700
BAE BEQ FRZEREE(]) =% I%©2 K mTEQ) BB E|ZE(N) #BﬂEEij?(z)
9/25 4x100mR| 0% IET(2) Fil KTE(D B 2 T5(1) fE FH@) mwE D) R FEH)
k% £t5©2 FARBEEFI() R #£40) KT #HE©2) £H LEQ AR RRER(2)
- 0)) HeLEEF(2) IS #HF1) BE FEQ RARFHEQ) MR EEIR2)
, BR1ELXF (&R F#fEd) 14”44 ILER #ERO) 14746|RE B 14756 A% KE(1) 14"73| AR #EQ) 15739[H® EH(A) 15745
9/25 100m
-0.4 M) = il B =25 B
FE BE0 28707 [ILTFE<BM) 30789
9/25 200m
+0.7 FJ11 FaJ1|
EX ti&0) 2'29722[lLA 1DBX) 2'51750;a[ 87 EZ(1) 2'57740
9/25 800m K&
HR I a1l
£ FEE®1) 15748 ERIZINEQ) 18775
9/25 80mH REFH
+0.9 HME FaJI
BrR2EXF [BEO EEQ 16706
9/25 100m
+1.5 HR\
AWLE =2 29731
9/25 200m
+0.5 F)11
R /RO 2'45735|f8F% ZE(©2) 302793
9/25 800m
F9Il B &
B4 BEQ 18778|&H FE(Q) 21789
9/25 100mH
+0.2 11| FaJI
ARE&EZF M 55709 B A 57767
R MK HF AEEA)
9/25 4x100mR| WILA Z(2) EX BEQ
UJ‘Fé<b(1()) E?k t/ﬁgg
, HRAMHFIELF |FF EBW) 15706|F R %1%(1) 15745|%0 Z=4&() 16"66|FFEE ZH() 16795[# M () 17715
9/25 100m
+1.0 ERERRE ARERRE EREREE 2|  AHEEEE ERERRE

4/5




460 HE - REAM-EF - BRI BR PRI EARTREE LK
ﬁﬁ H: 2022598258

T RBEE—

5 & 35 Sk [ T A PR B b R 5
HE FEAE] 147 2(i 3 | 44 | 5{i1
HEAMIELF ES E=230) 311717
9/25 800m S—
HEAMHEXF|AEBEZRLZS 101760
2 (1)
9/25 4x100mR| FE EE(O)
BE ZH(1)
g Z=rA1) _
BEFIELF [FE XEWMD 14727|06% 21 14799
9/25 100m
+1.0 Bzg HZ&
B F&W1) 30794|FRE FEE(1) 31746|HWG ZF(1) 32739
9/25 200m =H KEH
+0.7 ki B2g
AR F20) 2'29724|%5: ETEQ) 2'40710[EHZE FE(®) 2'40"15\48A&  E(1) 2'48792
9/25 800m SH KEH REH
HogEhE Bzg ETE =T
, FEAM2ERF (LR #ZEQ2) 14”66|\REH/HTH(2) 14794 H HIP(2) 157 74| Bl 4 1ER(2) 17759
9/25 100m
+15 =ld-7 AogEhE B8
RE #%FQ 2'38790
9/25 800m R
FBRAFEBLZF|(FARLEING2) 544782
9/25 1500m
Hi'n}EEF% __
56781|E~ A% 587345 F1& 101781
Eﬁéz XE(1) X&£#H| REFHFNHQ At Hr(2)
9/25 4x100mR| FRZE FEE(1) B FE0) B HXR()
EE E() WA F201) B E0)
WA #3E(2) JawNIEAI) b=11> MR )
ERRLF |RERE () 1m25
9/25 = "
B HEQ2) 4m58|AH L EF(2) 4mOB[fE R FHiF(2) 3m62| Bl F275(1) 3m40[EH =ZE(1) 2m91
9/25 ENE Bk +0.4 +15 +0.1 +0.8 +0.7
B[ B BABH el ___txE
=% Y&0O 9m66| FT ARHEFI(1) 6m99|AHE HEK(1) 6m23| LLIBF A ZS(2) 5m24| R BEEE() 5m18
9/25 | FaHL$%(2.721kg)
B 1B 1B £l izl
BREdxz¥+ [FF MK 3mb4| AR HFEX) 3m57|RAJIIBF2) 3m24
9/25 ENE Bk -0.3 +0.0 -1.2
[ 11| FaJI eI
BEKRK BEQ 9Im60|#aiE EBEF() 5m95
9/25 | FaHL$%(2.721kg) K&
B[ B[E

5/5




